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61. The scientists did a series of laboratory ............ on human sleep patterns in the 1960s.

1) medicines 2} inventions 3) experiments 4} schedutes
62. Your immune systen®.............. your body against microbes and other things that make you sick.
1} destroys 2} attacks 3) identified 4} defends
63. The world needs to change its thinking and behaviaor, .............. in the developed nations.
1) especially 2) hopefully ‘3) suddenty 4) recently
64. My friend’s brother .............. going abroad to study medicine because of his father's .............. death.
1) remembered / unhealthy 2) gave up / sudden
3) hopped / natural 4) quit / endangered
65. Some doctors ......eeeees that it is not until you get sick that you realize the. .............. of good health,
1) express / wonder 2} publish / sign 3) narrate / emotion 4) believe / value
66. A: I need the camera because | ...l take some pictures, But | don’t know how it works.
B: Don't worry. | ........... show you. - )
1) am going to / am going to 2) am going to / will
3) will / will 4) will f am going to
67. As soon as we walked into the room, we ............. a noise. Someone ............. my computer.
1) hearing / used 2) hearing / was using
3) heard / was using 4) heard / used
68. My friend’s uncle sings even .......... this famous singer. In fact, he has .......... voice Fve ever heard.’
1) as beautiful as / more beautiful 2) more beautiful than / more beautifuily
3) as beautifully as / the most beautifully 4) more beautifully than / the mast beautiful
63. Mark and Alice, | am not going to do the homework for ............... . You have to do it by ...

1) yourselves / you 2) yourself / yourself 3} you / vourselves 4} you / yourseif
70. Which of the following is grammatically WRONG? ’

1) Walves eat meat but goats and sheep like to eat fresh green grass.

2) His grandparent lives with him in an old house in the north of England.

3) Are these people helping the endangered animals and their babies?

4) Do your children usually clean their teeth three time a day?
71. Which of the following is grammatically WRONG?

1) Let’s study in the library. It's quieter than all the other rooms.

2) A minute is more than a second and less than an hour.

3) My parents are sixty-seven. In other words, my father is older than my mother.

4) The richer you are, the more you want. )
72. Which of the following is grammatically CORRECT?

1) Will an honest young French woman herself teach him French?

2) My niece is going to buy him a big blue American car himself.

3) My daughter made herself a large metal round box.

4) Helen, did you yourselves sell the lovely colorful Persian rug?
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The solar system is the Sun and the objects that travel arocund it. The Earth is part of the solar system
because it slso travels around the Sun. The Sun is a star similar to the other stars in the sky but it is much
...... {73).... to the Earth. The Sun is mostly a big ball of gases composed mainly of hydrogen and helium,

There are seven other planets that travel around the Sun, too. These planets, in order, include
Mercury, Venus, Mars, lupiter, Saturn, Uranus, and Neptune. Earth is ....(74)... between Venus and
Mars. The path the planets use when traveling around the Sun is oval-shaped and-is-called'its orbit. Each
of the planets in the solar system takes a different amount of time to orbit or travel around the Sun.

The planet Earth takes 365 days or one year to arbit the Sun. The other planets take more or less time
to orbit the Sun. It takes Mercury less than two months to travel around the Sun. it is the shortest time
weer{75).... to the other planets. The planet taking the longest time to go around the Sun is Neptune. It
takes Neptune almost 165 years to travel around the Sun.

Other objects in space include the moons of six planets. A moon is a celestial object {object in space)
that .....(78}.... another body in space. There are around 173 moons throughout the solar system. Earth
has a single moon, Mercury and Venus have none, and the planet with the most moans is Jupiter with 63.
Not far behind Jupiter is Saturn with 62 moons.

73. 1) closest 2) close 3) closer 4) closely
74. 1} located 2} divided 3} developed 4} ¢crossed
75. 1) added 2) compared 3) carried 4) hunted
76. 1) traveled 2) seeks 3) jumps 4) orbits

There are no more dinosaurs living on the farth. They are extinct, which means there is no longer a
certain kind of plant or animal living anywhere in the world. A species is a certain group of living things,
like dinosaurs, humans, birds, and many others. Scientists believe many living things, along with the
dinosaurs, died out millions of years ago.

There are usually two reasons for the extinction of animals and other living things. The first
is naturally, which may take place when animals do not adapt to natural changes in their environment.
For example, if the natural home of a bird suddenly changes, and if the bird does not adapt, it couid
become extinct. ‘

The second reason for the extinction of animals is human interaction, which includes hunting and destroying
the environment caused by people. Examples include the dodo bird that became extinct because of
overhunting and other animals moving into its environment. The passenger pigeon died out due to the
destruction of its habitat, as well as overhunting. There are many animals which have become extinct, but
when animals are in danger of becoming extinct, yet still survive, they are called endangered animals.

Endangered means a plant or animal is at risk of becoming extinct. This occurs when the population of
a certain animal is so low that they are in danger of dying out forever and becoming extinct. The reasons
for an animal to become endangered are mostly the same as for those that have become extinct. There
are many animals in the world today that are on the endangered species list. Some are so in danger of
becoming extinct that they can only be found in a zoo.

Some of the endangered animais in the world as of 2017 inciude the black rhino, found in Africa,

n where hunting has led to the decline of its population with fewer than 5,000 of them still living. The blue

whale is endangered and threatened by climate change, home loss, and poisonous substances in the
water. Finally, two other endangered species examples include the Bengal tiger, giant panda, mountain
gorilla, sea lions, and others.

77. Which of the following is not defined in the passage?

1} extinct 2} environment 3} species 4) endangered
78. All the following are endangered animals EXCEPT ........ccccveeee )

1} sea lions 2} dodo birds 3) btack rhinos 4) giant pandas
79. The word "which” in the third paragraph refers to ... .

1) passenger pigeon 2) habitat 3} overhunting 4} animals
80. Hunting and habitat destruction are reasons for which of the following types of extinction?

1) natural changes in the environment 2} human interaction

3) the poputation of certain animals 4) natural home loss
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